Practice Toxicology Questions

1. There is a long-standing debate over whether or not to have a global ban on the use of DDT.  Once its negative effects were explained in (which book?), post-industrial nations banned its use.  However, many of these countries already had their malaria outbreaks under control.  On the other hand, pre-industrial nations, especially those in tropical areas, continue to lose about 2 million people per year to malaria. 

· Describe one toxic effect of DDT on organisms.

· Explain how DDT moves through an environment.

· Who is most affected by the movement of DDT and why?

· Argue your risk assessment of human health between the risks of DDT exposure and malaria exposure.

· What are some other methods that could be used to control malaria that do not involve the use of chemical pesticides?
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Suppose the model above represents the response of black worms to various doses of cadmium.  

2. What is the LD50 measurement for acute toxicity of the situation above?

3. If this substance was a teratogen, it would

a.  cause cancer

b. disrupt the endocrine system

c.  lead to birth defects

d. be a neurotoxin 

e.  only show deleterious effects at the top of the food chain


4. An argument that this test does NOT provide enough valid information for the use/distribution of this product at below LD50 exposure levels would include all of the following EXCEPT:


a. the test animal’s biology is different from humans


b. this test does not take into account chronic exposure


c. this test is not lethal to all individuals


d. this test does not take into account synergistic effects


e. the precautionary principle

Identify the type of disease according the following categories: infectious, nontransmissible and/or emerging.  If it is infectious, identify the type of vector involved.

5. SARS

5. Asthma

6. Emphysema

7. Malnutrition

8. Malaria

9. TB

10. HIV

11. Flu

12. Lyme Disease

13. If a new technology is considered fairly safe and is deemed 90% reliable, what is the overall calculated reliability of the system if it is run by humans?

Identify which type of effect each of the following toxins has on humans: teratogen, carcinogen, endocrine disruptor, neurotoxin (Identify all that apply.)

14. Asbestos

15. Mercury

16. PCBs  

17. BPA

18. Lead

19. arsenic

